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12. What is the value of the expression below?

d) The lmes mtcrsect, but are not perpend,lcular (:&ﬂ &4 9’&
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15. Which of !:bese equatmns repregents a ]_ma passmg

Wat is the length of the line scgm}ent t_hat has

bl a) Flgure ABCD is arectaugle or figure ABCD is not
‘a rectangie Therefore figure ABCD s a trapezoid.

b) A_& fteshmau take Algebra 1. John is taldng algebra
I Therefore I ohn is a freshman.

-

c) All rectangles are paraileiograms Figure ABCD is
a parallelogram. Therefore, figure ABCD is a
rectangle. . -

he teacher said students could not receive an A in

- the class unless they got an A on the final exam.
Ashley received au A in the class. Therefore,
Ashley got an A on the final exam.
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L. Ifa figure is a squa_te then itis arhombus _ SRy

2. Ifa figore isa paraﬁeiogram, then itis a-
guadrilateral. . s

3. Ifafigureisa quadrﬂateraL then jt is a polygon.
4, Ifafigureisa rhomb’us 'thén itis 'a para]lelogram

Which of the following lists the statemen’rs in the
correct logical order? -

a) 2,4,3,1 1 4,2,3
¢) 3,2, 1,4 ,2,3,1
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9. A ladder is Jeaning against the side of a building. The - |} 20. (Which of the following is an example of the use of a
- ladder is 5 feet away from the building and touches the census?

building af a point 12 feet from the base. How long is
‘the ladder? :
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All the students at XYZ High School are asked
whether they ride the bus to school.

b) All the jtihiors in a government class are asked their
opinion about changing the school mascot.

¢} All the seniors are asked if they like calculus class.

d) All the girls in an algebra class are asked to

participate in a survey, b
ay 169 feet @13 feet e lensus= g w;’i‘él 'ﬁ D
c) 12 feet 10 feet
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21. The length of a box is 16 cm, the width is 10 cm, and the 22, [Which of the following as a secant of circle O7
height is 6 cm. What is the volume of the box? :
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27. In the equation below, what is the value of y when

X =27

y=—6x" +12x 43
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28. \The graph depicts a real-world situation. Which of the \
following situations could it depxct‘? -
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.A person dove into the watér. l“Q\M oA Hve.
7~b) A person jumped from a tree fo the grass below.

¢) A plane Janded safely.:
wd) A plane crashed into the driveway.
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. : c) a.ll students who were elected this year fo the
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Lincoln High School is considering adding co-ed
soccer to the sports program for the fall season. In
order fo get an unbiased sample of inferest in soccer,
‘the school should survey which group below?

'a) all the girls in dance class
-"b) the varsity football team

. siudent council.
jevery 3rd student entering second period class.
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Which theorem can be used to prove the triangles in the
figure below ate congruent?
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\32 ich of the following transformations pré'dﬁdes a
figure similar but not congruent to the onguza.l one?
o

b) A transformation that adds 2 to the x-coordinate
Qf"”( -and multiplies by 2 the y-coordinate of the

vertices of a iriangle. -
V@A transformation that multiplies by 2 the x and

y coordinates of the vértices of a triangle.

a) A transformation that adds 2 to the x-€oordinate
and subtracts 2 from the. y—co_rdmate of the .
vertices of a triangle. - : :

ytser o Smalley.
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a) 888 AS d) A transformation that adds 2 to the x-coordinate
cy ASA d) AAS ?;1(‘,\) and divides by 2 the y-coordinate of the vertices {
’ d [ of a triangle. ]
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3. Aaron used the Pythagorean theorem to find the height -

‘of atree. e calculated that the tree was Y222 feet
- tall. 'Which of the following should be used to write the

34. A cube numbered 1 throngh 6 is tossed once. What

is the probability thata numb less th 4 shows on
the top face of the cube? ’2, '3 v 56
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' height of the tree?
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W 5 feet d) 15 feet
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35.  Which type of transformation is represented by the
figures in the graph?
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I

& lfh ;

| i f[ Qﬁl@miﬁﬁ:@,}i
T iyl =J
- | @ Claed O £
N N v s B
N L 2.
fza 5’
a) ~2<y<6 b) —2<x<6
@ 2<x<5 d) ~25y<5

e

&) 73 [t &) g Hsg -
DIQK‘S-*?G"( Glgaf"Q o
5*!@«4"*}‘ ﬂml(ﬂ“} Vodke, ¢

—

e )

zolii‘*f'r’fbviv(e‘ ] M tree casts a 16 ft shadow af the same time of day ke

5 ?,xﬂwgk; 1L t‘ﬁt}'{ A jy 7%{4; ata3 ﬁveﬂlcalstlckcastsaZﬁshadow Howitall - | :
-8 9N Ong SE is the tree? e A et S
d) 17 R N el
o S 2086 “b) 12ﬁ die o
L hfﬁf_!s_ 2h=Fitt e any i a0y
Bt - 4 27%F 3z 2R be (013-2}1%{1_;_"-

—F)NJ é ; 5{?}{} ’ ']4 An architect is requiring the pitch of a roof to be e C:ﬁ;f iez

ol Harf2d G(IJ‘)'L%A at Jeast 7 on 10 on a new house he is building, as - - '
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Which of the following roofs is'nbt;steep enpugh? -

a) A roof with a pitchof Son . 9,;,
A roof with a pifch of 14 on 1
/4 roof with a pitch of 3 on 5.

d) Aroofwitha pltch of 7on 9.
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41. Which of the following graphs represents 2 reﬂection
of the figure about the line x =-1?
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42. Which of the following lines passes through the points. m

the table? :
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§ 43 Which of the following is equivalent to the expression

3(2x 4y)+4x+6y'? éx =129 4\x +4y
o 1ox 64

a) 1Gx l~2y " b) 9x- 18y

c} 10X+18y ' dy h0x - 6y

'kae oW{ Co;ﬁ.!'m&, ka#en«né

£

"/),wj (a xj cheeif

44. Which of these is the correct equation for the line that .
crosses the x- axis at (2, 0 ) and the y-axisat (0, 67

by y=2x-4
d) y=2x+5.

y naliho | o bolh mf«»‘

a) y=3x-6
@y=—3x+6

R AR EEN 1 the acvompanymg dxa.gram, paraJlel lines .‘ﬁ
_and  intersect transversal ‘at points B
and F respect;vely If m/AEG == 4z — 15 and
mlCFEH2$+7 find the value of z. .,
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46. an angle s measure is between 0° and 90°, then 3t is
an acufe angle. Jenny measured the angle made be two -
walls in her home and found the angle to be 84°. Wbl_ch
of the following conclusions js most reasonable? -~

a) Jenny needs to measure another angle.
e Qufwer 15 (a

Ha problem |

b) The angle is a right angle. -

¢) The angle is an obtuse angle.

: . \AD - EK, %’L C)Tbe angie s anacute angte .. A Mu_ﬂ_ -
( THL by s -
d) 3.7

’hlch of these could NOT be class&ﬁed as the number
,«ﬂ”‘“’%}f animals at the zoo?

a) Rational number b) Integers

¢) Whole nnmbers
é On{V{ ore Ahatt hns do fn%'éjgf;

(dPIrrational numbers [

8. ch of the following sets of numbers is not infinite?
&)um‘?/p#)
g,éz.ffr af |

{naz’w al numbersless z‘han 8}

b) {odd integersless than8} ol
¢) {rational numbersless than8} ( wesgahe) {

o (efinile

d) {real numbers less than8}
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'): i 49 Find the values of x for which the inequality is true. -

Simplify 4x(x*—4xy +63%)

: xﬁﬁ}%‘ﬁ\é«q«é@;

.

c $4.254 + $0.35m
C=$3.50d+$4.25m d) C=$4.25d + $3.50m
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SxE7% 25 7 a) 4dx’ —4x"y+24xy° Gt @%nﬁg
s% byxs— B) 4x* —16x"y-24x” vl
" a1 bpe] ¢) 4x* —16xy+24x7
c)xs2— Xs— 3 2 2
. 5 5 .4x —16x"y + 24xy
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51. ffamal calculated that it costs $0.35 per mile and $4.25 52. How many different ways can six different planis be
“per day to operate his car. If Jamal drives m miles over arranged side by side on a shelf? & { 3 a
d days, which equation below expresses the cost, C, of ' i
driving the ear, in terms of m and b b) 6 1€
+ Qoch Faﬂ" mw!{:r(;f ¢ Q¥ Aunge PPN Aoy, ,Z:;-
b) C=$0.354+ $4.25m hsod0 L

o : 5_5 . Eighi friends went ont to dinner together before prom.

A x+5 ~1 . Q.EVESS muh‘y/ 54. What is the rule to determine the next ferm inthe

Solve Q = L\ T YY) Jffrc following sequence? L '
53 8 4 vt o i
. : @n ona il 710 .{4{ 19 42

Yyt =dn=& e Ujafarew%ea@ﬁ 4"--4" 4 s '4 .

é?g& Y X= 1} =
a) IH :'.b) 3 ay Addthe previoustwo ferms.

l i b) Multzpbz the lasttermb —i

@Ada’ —%tothqlgsrrerm. SR

ﬂa’) Mudtiplythe previoustwoterms. - L

The restaurant adds a gratuity {iip) of 15 %o the total
for groups of 8 or more. The cost of the meals was
$270.40, mcludmg tax. Wh_lC]l amount is closest to
'the total cost of dinner, including the gratuity.
¢) $284

@
™ &M gfq“i’m 14 \,
\p@ m:: ﬂéam\ (mem éf(@w})

$311

a) $325
$41

56. {Draw a box-and-w
8,10, 12 14,21
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b) 260
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d) 360
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Matt drove for 4 hours from his home to his friend’s 58. Under which transformation will the image be a
house, He averaged between 65 and 85 miles per hour, different size than the original figore?
‘Which of the following is a reasonable total distance that
he drove on this trip?  # fhw fﬂiﬁf Y /‘a) reflection /~b) transiation
e Ay \lz&’lmgﬁf‘ﬁff ﬁ’ﬂ?’l ~ xc) rotation ifation —— 9 7O
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59. Which of the following linear equations js derived from
the table of values below?
K"“‘"n? wgmlﬁgf{ﬁ '_3

os:.oot-<

3
b) y=—"x-3
)y K

4
d) y=——x—4
)y 3%

@ach of the evenis below is performed randomly. - o

7L replaced in the deck, and a second card is drawn

¥
¥

ﬁ wenty differently numbered ules are puf into a bag.

Wi.uch mclude.s a dependent event?
et

a) A card is drawn from a deck of playing cards,

" from the deck.

b) A spinner with 8 congruent sectors is spun, the
number is marked, and the gpinner is spun again.

c) A fair coin is flipped, the side xt landed on is marked,
and the com is flipped agam '

One tile is drawn, the number is marked, the tile is
sef aside, and a second tile js drawn.

61. Mrs. Heirera started a sequence of numbess by adding
: the first three terms to get the fourth term. Her first
three terms were 3, 5, and 8, which gave 16 as the fourth
term. To get each new term she added the three
preceding terms. The ﬁrst 5 termas of her sequence are

below. 22)

3,5, 8 1_6-,_29,‘53,%3_ o Jf%

What would be th in the sequence? "t 1
- d) 106

62.

What are the coordinates of B when the trianglc is
translated 4 units left and 3 units down?
5-(1’#1[‘::1“{ g;f%‘m ;>7L
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¢) (4,2) '0 3
E at is ﬂae of the triangular prism
resented below in square inches?
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In circle , what is the measure of £ CAB? | _
360° ' . . a} 120sq. in. .108 5Q. in.
& o ':g égo ¢) 96 gq, in. &) 48 sq.in
g5, Solve Jx19=4  Xa=lb @ Solve |x+3|=8 ‘ ;/ ”’{Mm{"’ A catel
’ X= :
&) -7 b) -5 2) -6, -1 (
&) 5 @ ¢) 6,-1 (
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o kjmd the area of the fig'ure A-E rect

.

fﬁ}‘em}

L@jomﬁs A, B, and Care on circle P, !9
k2
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( ST ] [etgths - : |
4 ll LB s verfer Lo-w%‘?/,
6 t b anfle =arc
s -2 c’ élw jare (2 lefes)
2 | N = 6@4-—-1 e are
37 What isthem ACB?
18 $q. units b) 22 sq. unifs (2))280° b) 220°
©) 36 sq. units d) 17 sq. units ©) 160° d) g0°
——} . P i)
he area of a sector of the circle with an arc measure of MEtEMe the lenpth of side x in the diagram.
30° and with radius of 6 is . ﬂ
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1. Fmd the vahue of y in the systema of equations.

. - .2x+y=5 2_(‘3)4,,\} Yy e e‘lmu&”’%@a

( 72. RIDAM s 2 regular square pyra[md with PY' s

x-y=5 NP Get Onefern, — 6. Find tho stant height PR
| 5\ 23 o +o cance] M,re) =
K - h J s, Wf"\ea\ YM
X =L | 2g weflacs i
a -1 b) 3 .'..'
. -c) 5 dg 5 (P10 b) 5 |
. ] C) 14 d) 2
' 73 ind the spm of the measures of the mtermr angles of (74 ich sentence LHustrates the associative property for
. ahexagon‘? L addmon? L
B emjw
/ i a+b)+c—a+(b+c) e ).f@ :
7 (é: f)lﬁg : l B ﬁ}ioﬁ'{cdf@ Iz
A"’ (8 ) _ / b) 0'(1 %W&?ﬁ?{ tJe’m f”é 1ot
'“?/@ fen ¢) a+0= : SR ef@” wjr%
2) 180° B) 360° Iackly Pf"fef‘( Y
c) 540° @7200 4 atb=

omadeiee A

75. {Which stafement is the contrapositive of the following
statement: “If you study hard, then yon will pass the

test.” '
,ﬁ,fg ; ] m@gm 5 i}é?ﬁe‘f«%é, 96@:’} él}&gj#ﬁe

L@nese =
a) If you passed the test, then you studied hard.
b) Kyou don’t study hard, then you will nof pass
the fest. '
If you did not pass the test, then you did not study
hard,

G

76. To find the total nusber of ways a committes of three
can be chosen from a2 group of five people you would

nse: ¢ (9{&@/ Ao ek uniles

g;)' a combination
Pythagorean theorem

a) a permufation
c) the quadratic formula

. d) none of these




_]. _
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77. Which one of the following could be the graph of 78. !
y=x' 47 2 -3 1 2 4’ {
FA= and B = &0 oy
4 1 ' -3 4 | MJ%L
@ v b} Find 24-B &M@/{z 2
Sub (,&isu
z 5 8 5 4 -8
Vs 6 56
c ¥ d) o o - o .
i : -
: 3 8 ~ 3 —8
: '“)[ ] d[n —2}
ailluginofencx gy =1 ealy {94 - f ~|% - j
19 Lo g' -3 T 2
‘ybatisthesuﬁlof the solutions for the guadratic 80. Which ofthe following represents a correct prpcedure
equaticm beiow? CPac}vsa) for solving each given equation? ¢ loslt i He el
 Pedp12=0 B 2(x-5)=-12 ©) 8(x-5)=24
(}((_éXx,{.Q) 2x-10=-12 8x-40=24
ST . -2x=-2 Bx=-16
2 -1 x=1 x=-2
{
z’a § 2,» ) ;
| S ¢) 5-2x=8x+25 —12=—2x+15;_
' 5=-10x-25 9%x-12=15 ;
30=10x 9x=27
3=x x=3

is doubled What happens to the original area?

The area is 8 times as preat.
The area is 4 times as greaf,
Ney*The area is donbled.

*°d) The area will remain the same.

R Lo .
] be o "“"."‘ff‘_“”'%-
T » draw itact

| p 43,‘,‘?4_ Af«s-@
e 15 . ﬁﬁw" 4*{%’3)

8l. A3X5S nich photograph is enlarged so that each side

82 Which equation can , be used to find the value of x in
the right triangle shown?

2 fack :bﬁ/)},éa,;zwia}?
¢ ik g orde patle ik
4 (4(; [é?,w wl’ﬁf"‘; ‘/9"* ((i}‘@’\d)

a) cos20° =

Tiz a7

12
a4

b p- ) o I'L .
ey TN




83. Tbe graph below shows the results of investing $100
per month in acconnts with two different rates of retwm.
Based on this information, which statement below is

frue? o imimle oresld
Ape At=frae
% v2.10% RATE OF REVURN )
500 -

‘son |— . ;.
I N Hﬁ/ i
3 9% ——jo% |
200 | - A e :
100 e |

- o e;-ﬁ:ﬁ“éz

- b 5 0 §5 20 25 30 35 40
Yeoars

a) Investing $100 per month in an account that pays
10 % rather than 8 % will not make any difference

until after 25 years.

. b) Alarger rate of retum causes the account to grow
¥ rapidly at first but then the growth rate slows.

A small increase in the rate of return makes a
- significant difference in the growth of the account
over 40 years.

d) If the graph was to coptinue to 100 years, the § % line
#~ would catch up to the 10 % line,

84. | What is the relationship between average test scores and

days absent from school shown in the plot below?

" TestScores Versus Days Absent

A A

108 ovr—n o s " .
s — 3 s = e

s I e T S

N SRR > SN

1 - - e
F AT [ Y
g : O
s 113 P er e e aie e o “a .
&
| JN N :
5 A Tests

cores are equal 1o the number of days absent from schoni

B Therejs a positive comelalion between tast scoras aud days absen’
] ere js a negative correlation between test scorﬁ and days abser
D Thereis no ra[auonshlp between fest scores and daj's ajascnt.

* ) s « = . 2 M N

o 'Zavarmb‘f“‘
'ﬂ fﬁawwf’jfﬁ’c"&i’?n fzjf%v.-mff*f{%
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o e R

iﬂl Ja‘ LWW ?ff é‘lln/ flz”n;/ﬁ. fw«: f«‘q‘.,(lr

nfe’f f% e

| Eﬂhjch net below best represents the following objelct?
/ .
s visually ol ,{‘LLMJ'
,{b alle He shpe
« St w] big 4l

.........

"\

cuf here

ot here

- e o]

An additional practice aims test is available on the Arizona department of education website.







